2. Compare the two expressions using <, >, or =.

For each, explain how'};ou can find the exact answer without doing all the math.

a 20 x (5 x 6) a 100 x 7 ' .
T Wow 0xI = 160 20 00X = (0O, and
100 % 1= 10 30 (D s less Yan 7¢O,

b. 36 x 12 @ 40 twelves — 5 twelves

H0-8=235, 35 8 e tran 3o, 30
B Yweives s More Jran 3B rwedves .

c. 9x8 — 4 nines, doubled
4 dovbled 1578 2o 4 nices doobled
1S equad to  9xd.
HINT: Remember to look at the words —what does 40 twelves mean? What is doubled?
3. Solve. Use words, numbers, or pictures to explain how your answers to Parts (a) and (b) are related.

2)14x30=_
(20 10) +@B0 x 1) The ports
260 + 120=Ho are. re\oed
| becawose
1S YW Sme
b) 14x30= 14  tentsx30= 7O 4endas C\\ ‘\‘\"S 1 \)}\y

e ploce
valoe ona
renamg e

How are (a) and (b) related? (Hint: Think about place value). U{\\' _\_,



